v ‘il
[=) PEEDINGRODS
Since 2006

SUSPENSION KIT
INSTALLATION GUIDE

FIT FOR FORD —
F-150 2WD 4WD o |

REAR SUSPENSION LEVELING KIT '
- ABK-TF1501521-VLC


https://manuals.plus/m/0c96d4238a168f31cc765d51bc5f965de2d23247d70d972d2741069c3ac132e0

11" RUBBERKITLIST
2X Rubber
o spring ¢95*¢ e Spf:l)c(:er
20*95
Ll -
s 2X Upper h*—
(3] " mounting (4] 2X Block
bracket (Left and
right)
=
e . 2X Lower e 2X Hex bolt
i mounting M10*1.5*65-30
I I bracket I
-
e 2X Hex bolt 0 2X Hex bolt
M10*1.5*40-3 M10*1.5*30
0
- 2X Gasket ¢33* - 4X-Elat
e g ]0.5*2(') ¢ @ U washer M10
m 2X Bushing @ i j 2X Bushing
¢20*¢910.5*15 ' $20*¢910.5%25.5
@ P 2X Washer M10 @ @ 4X Hex nkllon
- 5 nut M10*1.5
(15} ’ "';:____ 1X Car sticker

01




1/}

PRE-INSTALLATION NOTICE

* This product will not increase the load capacity of your vehicle.

« Do not exceed the manufacturer's recommended weight limit.

* The installation process may require drilling, professional installation is
recommended to ensure personal safety.

* All modifications must be installed by qualified personnel and in compliance
with your local modification regulations.

INSTALLATION GUIDE

DRIVER’S SIDE

&

|
~—

0

!

02



11" REMOVING THE BUMP STOP

STEP1. Raise the vehicle with a jack and let the suspension kit assembly can be
put into position between the axle and frame.

STEP 2. Remove the factory bump stop.

117 INSTALLING THE UPPER AND LOWER BRACKETS

STEP1. Attach the upper mounting bracket( e of the Rubber kit list) to the
frame.

03



STEP 2. Install the rubber spring( o of the Rubber kit list) to the upper mounting
bracket( €) of the Rubber kit list) with washers and lock nuts.

NOTE:

If necessary, you can use spacers to achieve the desired height.




STEP 3. Install the lower mounting bracket () of the Rubber kit list) with block
( @ of the Rubber kit list) to the axle.

STEP 4. Repeat the same process on the other side.

117 INSTALLATION COMPLETED

INSTALLATION COMPLETED

WARNING
Cancer and Reproductive Harm

www.P65Warnings.ca.gov

05



